Quiz 2 – EECS 270, Spring '05
Name: ________________________________________________ unique name: ________________

Honor code:

I have not given or received aid on this quiz, nor have I observed anyone else doing so:

Sign here:_____________________________________

This quiz is graded out of 100 points and is worth about 4% of your class grade.  You will have 25 minutes for this quiz.  Closed everything including calculators! To receive partial credit, work must be shown.
It might be wise to do the 2nd page first!!!

1. Provide logic equations which take a 3-bit signed-magnitude number as an input and outputs a 3-bit 2’s complement number of the same value.  Put your answer at the bottom and show your work (writing a truth table is probably a good idea).  [50]
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2. Provide as simple an example as possible of the following laws: [16]
a. Associative
b. Distributive

3. What is the even parity bit for the following values? [8]
a. 100010

b. 100111

c. 111101
d. 100011
4. Write the truth table for a full adder. [26]
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